H £ 0l & AF & S

Al A

SN AFESHLD
BN AFSHPNL(SHUBT/BT)
el FFSaEoNe (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
AFSHL Dt 12,894,792 6.310, 179 6.584.613
= 8,412,000
Al 4,482,792
AFSRNY (2L BB/ ) 8,043,738 3,000,000 5,043,738
= 6,788,000
Al 1,255,738
BTSN 8,043,738 3,000,000 5,043,738
= 6,788,000
Al 1,255,738
(S)YZE HEXAL THAL(HEANL) 4,092,088 2,000,000 2,002,083
= 4,083,000
Al 4,088
401 N8I L 20HY| 4,092,088 2,000,000 2,002,083
= 4,088,000
Al 4,083
01 Al&t] 4,088,000 2,000,000 2,083,000
OYZEY YEZEAL Z&AY
4,083,000, 00021141 4,083,000
= 4,088,000
03 Al& = Chb| 4,088 0 4,088
OYZEY HEZEAL Z&AY
4,083,000, 000240 1% 4,083
(T)EFE MAS22H01Y AlE TEAS(HEALY) 700,000 1,000,000 300,000
= 700,000
401 A8 2 20H| 700,000 1,000,000 300,000
= 700,000
01 Alt] 700,000 1,000,000 300,000
OY= HA22401Y A& ZHAK
700,000,000 141 700,000
= 700,000
(S)YFS 22 =3 28D THAY(REA) 600,000 0 600,000
< 350,000
Al 250,000
401 A6 L 20HY| 600,000 0 600,000
= 350,000
A 250,000
01 Al&t] 600,000 0 600,000
OYFs 22 28 YD TLAY
600,000, 00024+14} 600,000
= 360,000
Al 250,000
(E)IFS LIEOSHH AL THAY (REAY) 1,651,650 0 1,651,650
< 1,650,000
Al 1,650




F=SoHg
IFS AL (2 22 /24F)
IS EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 1,651,650 0 1,651,650
= 1,650,000
Al 1,650
01 Al&H| 1,650,000 0 1,650,000
OgFS UIENHEMH AMEZLAIY
1,650,000,000& * 141 1,650,000
=S 1,650,000
03 A2 THYI 1,650 0 1,650
OYAZS UIENSHH ALTHAY
1,650,000, 0002 %0. 1% 1,650
TH =S8 LU T8AMY 1,000,000 1,000,000
401 AIEHIZ SR THYI 1,000,000 1,000,000
01 AlZ8| 1,000,000 1,000,000
OgFY 5S¢ S22 A2 22X X
39 ZaE S8
1,000,000,000& *14] 1,000,000
Jlgt &5 Y 2e|(2stR 2/ 2E) 669,000 1,006,000 A337,000
S Jlgt #E & 2l 669,000 1,006,000 A337,000
XYY 22 669,000 1,006,000 A337,000
201 Zet=3h] 3,000 0 3,000
01 AtR2te|HI 3,000 0 3,000
OYFs QEVLE 2YHIZ 7Y
3,000,000& *14] 3,000
207 ARl 10,000 110,000 100,000
NEEEETT 0,000 110,000 100,000
OYEs QELE PSR ME 29
10,000,000& » 14 10,000
401 AlZHIZ 2018 646,000 896,000 250,000
01 AlZH| 646,000 896,000 /250,000
Og=xs LEHEY =AU
8,000,000 «12& 96,000
Og=s QLEHLY =5 Hilils LM & =
& el 120,000,000 * 14! 120,000
OgFs QEHET =3tetet WHI(10S)
360,000,000 * 14 360,000
OYxs QEALE FEZ HE X4
70,000,000 *14! 70,000
405 KHaHE SH 10,000 10,000
01 TR ESF SHI 10,000 10,000
OZ=5 LEHLZ Jtetgt o2l giols +
& 1,000,000 * 1074 10,000
NS AEE SN2 EXXANL /=) 4,035,230 2,304,179 1,731,061
s 1,624,000
Al 2,411,230
HIS ANE=2 =X2 4,035,230 2,304,179 1,731,051
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FA GFSOHE
ZE: UFEHEXS LS R (ZELTANL/ATR)
Rl BFEAY AlE=E 72 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03 Ar=EHI 10,000 0 10,000
Og= OEHIX s 82 A
10,000,000 » 14 10,000
207 ARl 150,000 180,000
01 Sl 150,000 150,000
Og= OEHIN M 2elEE &Y EY
10,000,000& * 14! 10,000
OYES Z8 A7 BN N J= &
EtfSE A 89 20,000,000& »724 140,000
301 EtE N = 5,000 5,000
14 IIEt2 83 5,000 5,000
OYZ OSHR 2 0182 oI 2
5,000,000& *14] 5,000
401 Al HIZ R 0HHI 940,000 1,070,000 130,000
01 AlZ8| 936,256 1,069,100 A132,844
OZ0tF28& HYAME &EFSSA
200,000,000& *14] 200,000
OE0IF&d, HEHA s, SE5E S
NEEREIET] 120,000,000% 14! 120,000
O85H 2 20D DY HEEA 2
60,000,000 * 14! 60,000
Ogxs =¥ M2 & 3N
120,000,000& * 141%99.28/100 119,136
Og= UEHIX s Fx= HEE SA
20,000,000& » 14 20,000
Ogxz ¥ Alde 2t S 334l
20,000,000 * 14! 20,000
O&Fz B3 €8 =X ZdA
400,000,0002%99.28/100 397,120
03 Al 20HHI 3,744 900 2,844
OPFES =8 AES =X ZA
120,000,000 *141+0.72/100 864
O8x2 SUFSH 28 =Y 2gAE
400,000,000&+0.72/100 2,880
405 KHaHE SH 3,500 3,500
01 TR ESF SHI 3,500 3,500
OYZ oSHR Nz My 2
700,000 *1K 700
OYZ 0{SHR He Hi2tA SAS HX 7
& 700,000 *4 K 2,800
(Z)EFE 8 MEINHRASER ZEAIS (HEALY) 2,800,000 1,000,000 1,800,000
== 1,624,000
Al 1,176,000
401 AIEHIZ SR HYI 2,800,000 1,000,000 1,800,000
[ 1,624,000
Al 1,176,000




FA GFSOHE
B gTun|o AlMS SXB(RELXISNL/+TH)
el HFEXG Ald= 7Rl (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 Al&HI 2,748,480 1,000,000 1,748,480
Og=d =8 MEHA2 X LAY
2,800,000,000&+98. 16/100 2,748,480
= 1,624,000
Al 1,124,480
02 Zeltl 41,440 0 41,440
OZF8 =8 MdE Nt ZEAIS
2,800,000,000& +1.48/100 41,440
03 Al&SCHE| 10,080 0 10,080
OYZEY 48 MEIKASET T
2,800,000,000& *0.36/100 10,080
IF3 Y 22 (S 2Z/2E) 25,000 0 25,000
g3 e 82 # 08 25,000 0 25,000
g3 e 82 € IBE 25,000 0 25,000
201 223 25,000 0 25,000
01 At22t2ltl 25,000 0 25,000
Og=z JI2g2= M 25,000
—g=5 Jl"sg2s ¥ HE2 AH
20,000,000& * 14 20,000
-85 A& JIES A
5,000,000 * 14 5,000
I AU (F=SHL D) (DIEHDIIE}) 121,824 0 121,824
Jl=3H| 121,824 0 121,824
Jl=23H] 121,824 0 121,824
201 er2 3| 43,704 0 43,704
01 AtR2t2|HI 25,504 0 25,504
O=AEA 7Y
20,0002 x 148t A% 123 3,360
OS20HAlHI 9,000 +7A%x14Z x 122 10,584
Ooggte=g 100,000& «12& 1,200
OAn2 BN 50,0002 123 600
Ol =&l 8,080
—SADHUE) =2
1,000,000 *1CH 1,000
—ZelEd| ==cl
100,000& *4CH*50/100 200
—=SAD| EY 200,000 52| *1CH 1,000
—TRIE £ (29)
200,000 52| *4CH 4,000
—ZgH EU(Zd)
200,000 52 «1CH 1,000
—PC #=cl 100,000 *14CH*20/100 280
—JIE =28l 50,0002 123 600
OJIEL At 2eld]
10,0002 142 x 122 1,680




FA GFSOHE
S AP2SAH(F=SHLD) (DIEHIIE
Chel: J1=2 &l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 S5=g4l 18,200 18,200
O&A &JIes=s 1,200,000 1290 & 14,400
O&A ol 23
150,000& 1204 & 1,800
OFA dteI] 22+
200,000 +55 1,000
OF AL A= 7 Xl2clH]
1,000,000 %14 1,000
202 04t 73,920 73,920
01 =LHOHI 73,920 73,920
O2U 048l 20,0002 x 142 *122x 122 40,320
OZ2|otl 120,000 x14E«20 33,600
203 gF=4| 3,000 3,000
M FA2SLRFAI 3,000 3,000
ORNSgE =]
250,000 122 3,000
204 AR AH| 1,200 1,200
01 Mg R3] 1,200 1,200
OXUZYR+AHBU(FFSHL H)
100,000 x 12+ 122 1,200




